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Ответ: 13.

В2. Найдите значение выражения 
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Ответ: 10.

В3. Вычислите: 
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Решение:
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Ответ: 1.

В4. Вычислите: 
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Решение:
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Ответ: 
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В5. Упростите выражение 
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Ответ: 0,29.

В6. Вычислите: 
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Ответ: -1,5.

В7. Дано: 
[image: image15.wmf]8

,

0

cos

=

b

 и 
[image: image16.wmf]p

b

p

2

2

3

<

<

. Найдите 
[image: image17.wmf]b

sin

.


[image: image18.wmf]6

,

0

36

,

0

64

,

0

1

8

,

0

1

ìèíóñ"

"

 

çíàêîì

 

ñî

sin 

 

÷åòâðåòè

 

IV

 

Â

cos

1

sin

2

2

-

=

-

=

-

-

=

-

-

=

ú

û

ù

ê

ë

é

=

-

=

b

b


Ответ: -0,6.

В8. Дано: 
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В9. Дано: 
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В10. Дано: 
[image: image30.wmf]6

,

0

c

-

=

a

os

, 
[image: image31.wmf]p

a

p

<

<

2

, 
[image: image32.wmf]8

,

0

sin

-

=

b

, 
[image: image33.wmf]p

b

p

2

2

3

<

<

. Найдите 
[image: image34.wmf])

-

sin(

b

a

.
Решение:

sin (α — β)  = sin α • cos β — sin β • cos α
sin во II четверти со знаком «минус», cos в III четверти со знаком «минус»
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